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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) / O Level
Business Studies, and to show how different levels of candidates’ performance (high, middle and low) relate to the
syllabus requirements. This document helps teachers to assess the standards required to achieve marks beyond the
guidance of the mark scheme.

In this booklet candidate responses have been chosen from the June 2023 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates.

Please refer to the June 2023 Examiner Report for further details and guidance.

The questions and mark schemes are available on the School Support Hub

0450 / 0986 / 7115 June 2023 Question Paper 12
0450/ 0986 / 7115 June 2023 Mark Scheme 12

0450/ 0986 / 7115 June 2023 Insert 12

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

How to use this booklet

Example Candidate Responses — Paper 1

This booklet goes through the paper one question at a time, showing you the high-, middle- or low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner

comments.

Example Candidate Response — high

Examiner comments

2 Gloriais a sole trader. Her business provides house-cleaning services. Gloria uses telephone calls
to communicate with her 4 employees. She wants to expand the business by offering a repair
service. Gloria plans to carry out some market research. She has been told producing a business
plan ¢can help to reduce risk. Gloria would also like to reduce her workload and is considering taking
on a business pariner.

(a) Identify two ways a business plan can help a business to reduce risk.

Way 2: ... finontiad, ... AO0U. o B KR econdiNg.....
e T T avaifoble......... 004 ... dectcde e hether w%fwt 2
05 bank will  requred Bl busiess  pen i order  to Tent foan

{b) Identify two possible reasons why a business might want to expand.

PR mvdio Lo Losotions Lasenofibiveg

Answers are by real candidates in exam
conditions. These show you the types of answers for
each level. Discuss and analyse the answers with
learners in the classroom to improve their skills.

How the candidate could improve their answer

0 This response identifies one
way.

e Examples of decisions are
not relevant. If this is all they
had written, this would have
gained no credit. Fortunately,
the point is clearly linked

to obtaining finance, so the
comment is not classed as a
different answer.

o Understanding the bank
might want to see it, to ‘rent the

(

exam technique.
N J

Examiner comments are
alongside the answers. These
explain where and why marks
were awarded. This helps you

to interpret the standard of
Cambridge exams so you can

help your learners to refine their

* (a) Two valid ways are identified. The second way could have been written more succinctly. For example, it could
help secure finance. Listing examples of decisions is not relevant and on their own are therefore not awardable.

* (b) Two reasons are identified. However, a shorter answer (stopping after ‘wider customer base’) would still have

earned the mark for reason one. The second part includ
not mark the third reason so including it only wastes the

This section explains how the candidate could
have improved each answer. This helps you to

interpret the standards of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes and guidance
(a)

+ Vague statements about help, decision-making, avoiding problems or being more organised.
+ ltis important to read the question carefully to ensure answers have the correct focus.

(b)

+ Some candidates were not precise enough when identifying points, or they identified two similar points. Always

attempt to select points which are clearly different.
* Only include two points, as additional answers will not b
+ There is no need to explain points — the question only r

This section lists common mistakes as well
as helpful guidance from the examiner. This will
help your learners to avoid these mistakes. You

can use this alongside the relevant Examiner
Report to guide your learners.




Example Candidate Responses — Paper 1

Question 1

Example Candidate Response — high Examiner comments

1 FBW manufactures watches using job production. it employs 5 fuli-time production employees.
Each worker is offered regular training. Last year FBW sold 600 watches. The Managing Director
plans to use break-even analysis to help decide whether to increase the price of its products. FBW's
current break-even chart is shown in Fig. 1.1. . .

Break-even chart for FBW’s watches

120000
100000 . total revenue
80000 ‘ / ‘ fotal costs
costs-and //
- revenue.$ 60000 ‘
40600 ‘ ] . | ‘ ’ 0 Correct reason. The second
P [ part of the sentence is unnecessary
/ as this is classed as an alternative
20000 ' ~ fixed costs to good service.
0 b _ 0 Another correct answer. Both
0 100 200 300 400 500 600 700 800 marks are awarded at this point.
number of watches
ig. 1.1 . . .
Fig o The candidate identifies
(a) Identify two reasons why a business might offer training to its employees. another reason, but this is
) . unnecessary as only the first two
Reason 1: ToPYDV](XC,@DOd\SQX\J\(%Qﬂ?)\vmdl\f\&go’oo\a responses xill be myarked.
............ I, Qo ConsTmmyy Mark for (a) = 2 out of 2
Réason 2: ......\Q.. {0 ,?f.Q.V.e,...QJMPXQBZ,&S.\..‘.WQ\.\’.\S&W&..@%Xd&m&zﬁ...e TWo correct answers are
...(J\m)x..dm@\?%..fg\i\@fmém\.\s ............ (3 Y, ;27 | calculated from the break-even
. chart.
(b). Calculate the following values using Eimpd.1: ) Mark for (b) = 2 out of 2
Break-even output: ........ 20 e This stat £ It d
is statement is vague. It does
. o)
Break-even revenue: bQQO$ ..................................... 0 ................................... [2] nOt Identlfy Why/hOW It |S eas'er
{c)y Outline tw i ts on. FBWs: seven. if the pri its & . . .
(c) ingr e”::e vo possible effects on. FBWs:breakzeven chart if the prices of its products are 0 Usmg relevant information from
— ' the break-even chart shows good
Effect 1: EQSlﬁrtobfequVCno ......................................................... application.
Si0ce FRW.S. CUlfent. biedK e¥en.point. is...S0Q. units, Lf
: ' & - o © ) understanding that break-even
The plices of Ahe ploddcts. inclecse. it alows. them. to. .. is quicker to achieve gains the first
€ Hicak. cven. quicker. withadt. selliog. as. 000y UOlts....... | Knowiedoe man
Effect 2: ....Mg.taﬁ...,P.ro.f.[tt..mad.e..e .................................................................... @ A second effect is outlined.

£ helr. prices. FBWs.Caf (K. (
...:L....,.:\Y)c.\c...p(u.ces.‘.lr.\c(.c%c.,....t.B.w........({..(cﬂ.t..h(ml{..e.v.ﬁn...\2@1.{).’[.... e There must be two different
- Q£.500. wodld. dlow. them. 1o, iNdedse. profits..which.. | pieces of application used — one
o | , _ for each knowledge point. Here,
el D8.. YeInves Ted 1010, 408 DUSESS D s | e o e the carlior
reference to 500 units so this

answer will not be awarded twice.
Mark for (c) = 3 out of 4
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Example Candidate Response — high, continued Examiner comments

{d) Expldin two benefits to FBW of Having full-tima employees.

Benet 1: .. 10X, xlayees. Commitmade (...

Explanation: \NOY\Q.\\Y\g%I\\\SG\\mQ.%VWWAWSW’\“}\WBO\%W\IA0
0y wrle b Sployes . Fedl e \oipl o he. Comfren
C(AMSQ\R; ) e\or\\g% . f&;%émmg\em¢f0m5ﬂf%%mwmm

G0 gpnexoie. \ess, msnteets s B
Benefit 2: ’ém&@r{ommge,qemm}\mmmw&m’mQ .......

Explanation: M%WQ\W%M%WO\\OY\SJ@%VY\TBW
@o\w}!\g:&\b&.wx’i. ). et c’v\o\(\z’()@mv\wg%o%f@\l\l(am

go\%:\m%v\‘coge s . S e bn:mo.\tion_m..m%s.vxg%..

60\6\@?\N‘VWWO{TYSW/XSOMCMMM\%SWWU@N} 6l

@ A relevant benefit is identified.
The comment about employees
feeling more loyal is repetition as
this is simply an alternative to more
committed.

0 Mentioning watches clearly
links the point to the scenario so
one application mark is gained.

@ The candidate offers a relevant
explanation about how employee
commitment can benefit the
business, namely less absenteeism.
Analysis must flow on from the
knowledge point being made, which
it does in this response.

@ A second benefit is identified.

m While the reference to watches
could be application, it has already
been awarded in benefit one. Each
point needs a different piece of
application.

@ The analysis needs more
development as ‘without worrying
they may miss the meeting’ does
not show a clear impact on the
business. For example, missing the
meeting could lead to mistakes or
the wrong actions taken.

Mark for (d) = 4 out of 6
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Example Candidate Response — high, continued

Examiner comments

(e) Do you think job production is the best method of production for a small-business to use?
Justify your answer.,

.....ng.mdmcﬂmimk\m.mbminess._ymo.\mg..eossl\..«s\;..x‘ts.ymw{;s
based..an.0.Sp \%omwmerr‘sfea\ﬂmmm\\wuemwd&
@amv“o\\mww&@wmm YoM ...m&%m&wk.hc.smm\!...\z@m&s.
Cmnmm‘ﬁahg\r\\“fva\ik o\k&s\m& r&)\uxﬂ%\?\r«tg)mmo\\\g'eﬂm@m
mmw%é{&ﬁ\b,m\nd\?w Nves‘(ﬁg\(\\m\DOMcdu’(,T\(\mrs
e wethod ooled ol rabusiorn where. 0 oo o, et
(A“@mw\k%ﬁ’ﬁ\m&bm?’r@mwﬁ%gn%ﬁ\umwwdmg‘@%
@ fopther. Qterall, T don's Ateke Jo0 proshmtion s the. best mednod
Tora. $w\\bms\n%szw’éfb“g‘f\émsw%&cam s{s&\ewmgm
@bﬁ\\éxﬁmﬂ .Q;ssffqm&c.\Qg)m.\p\).k%)..m\(m%...\_b!ri\a\v\.e.; vtk 2 SN, % eeds
il o caneh. e o Jowge Ytoions, 5 aymmtn. T A

@bu«o\\. Yoo\mm\omsax‘mwffw@mswwm\xso\vmmﬁ\; ......... I6]
ety Sor e Conevniner s omd T com RN Som, erononies

sarle -%\or s pwéiness . @

@ The knowledge marks are
quickly achieved in the opening
sentence for identifying the products
are based on specific customer
requirements and are unique. Other
examples of knowledge are evident
throughout the answer but to gain
further credit, the candidate needs
to show analysis and evaluation.

G A decision is made, but listing
disadvantages does not show
reasoned judgement.

@ Explaining how unique products
can help build customer loyalty
gains the first analysis mark. The
second knowledge mark is awarded
for identifying an alternative method
of production, batch production.

@ Another decision is made, but
this statement is not evaluative.
Instead of building on points
discussed to support the decision,
the candidate identifies additional
knowledge and analysis.

@ The candidate explains how
batch production (an alternative
method of production) could allow
for economies of scale. This gains
the second analysis mark.

Mark for (e) = 4 out of 6

Total mark awarded =
15 out of 20
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How the candidate could improve their answer

(a) For this question, a simple statement for each point was sufficient. Taking improve efficiency as an example:
efficiency is the HOW and mentioning ‘increase’ shows the direction of change. Candidates should be encouraged
to write clearly and succinctly. The question only asked for two reasons, so including additional details or points
was unnecessary. Examiners only mark the first two points in a list-style question. This means that whatever

is written in the third answer cannot be credited, even if one of the earlier points was incorrect, as a scattergun
approach does not show good understanding of the topic.

(b) A correct answer is all that is needed for this type of calculation question. Including the correct mathematical
symbol, such as $, is always recommended, but on this question, it was not essential to access the marks.

(c) The candidate correctly outlined two effects, one of which was in context. Appropriate reference to 500, the
number of units sold, clearly links the point to the scenario. Using appropriate data from the chart or any table is a
good way to access application as it is specific to the business in question.

(d) The candidate identified two relevant benefits. However, only the first point was developed to show application
and analysis. Candidates cannot use the same application for both points. Application does not have to be complex
to be awarded. It simply needs to link the point to the chosen scenario. The question asked for the benefit to the
business so it was important that candidates showed how the business may be affected. Here, the example given
was vague as it did not clearly show how it helped the business.

(e) Good knowledge and analysis were evident in this answer. However, a decision alone is not sufficient to
access evaluation. Candidates need to support the decision made with reasoned arguments and these should
build on points discussed. Here, mentioning an alternative method of production was a good strategy as the
contrast between the two methods can form the basis for a balanced decision. For example, recognising that
economies of scale could lead to lower prices may not be important when selling unique products which can be
sold at higher prices to offset the higher cost. Therefore, job production could still be a better option for a small
business, especially as it may not have the capacity to order large amounts of inventory to benefit from purchasing
economies anyway. To gain the second evaluation mark, the answer would need to be in the context of a small
business.
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Example Candidate Response — middle Examiner comments

Two correct answers from the
mark scheme gains both marks.
o Mark for (a) = 2 out of 2

e Although it is good practice

to include the units (watches) for
e numerical questions, it was not

o essential to do so in this case.

Incorrect answer. The
candidate identifies a random value
from the chart.

Mark for (b) = 1 out of 2

10
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Example Candidate Response — middle, continued Examiner comments

{c) OQutiine two possible effects on FBW's break-even chart if the prices of its products are
increased.
i

Effect 1 ... T otal | reiRwve W jayense ootk pie

stovp.. SAme...ehe. TG o produston o E s ...

(d) Explain two benefits to FBW of having full-time employees.

Benefit 1: ...[NO..n2eel Ao .. ANy erkeers

Explanation: ....... P8 oa b werens werk | ket ] - 35
....... hows o wec, ddr g tine o Aad to ke
. Styduleeh . Hor@ilr, Qs Ale - A employess Gre ghy

He gular paning. @9 el il =

@) one effect is identified. There is
no need to repeat the question, as
this simply takes up time which can
be used more effectively to answer
later questions.

6 The reference to watches is
application.

e Outlining the effect on costs
does not answer the question so
this answer gains no marks.
Mark for (c) = 2 out of 4

o A benefit is identified. This is
accepted as an alternative to ‘fewer
workers needed’.

e No analysis as the comment
provided simply repeats the
knowledge point. This is a common
mistake. They need to show how
this would help the business — for
example, lower costs as fewer
workers needed for training.

The reference to training would
also have gained application as
the scenario clearly states all
employees are offered regular
training. Alternatively, they could
have mentioned the fact that FBW
only needs five employees.

0 The focus on training is
incorrect as this is a different
concept. Without knowledge of a
benefit of full-time employees, there
is no opportunity to gain application
or analysis.

@ Here, the candidate attempts
to explain the difference between
part-time and full-time employees
which is unnecessary and does not
answer the question.

Mark for (d) = 1 out of 6

11
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Example Candidate Response — middle, continued Examiner comments

(e} Do you think job production is the best method of production for a smail business 10 use ¢
Justify your answer.

......... Crough. CpitL fo B puchase He # A mapune

....... We bosr Md for qcumh  buigss: Job prodven may g

.Q% o -H{/ sPeufc  vents of  (ustondry and & gC-H)kg_

N Clostr bongh it Hem  phith o gy Lusiess, o @w\‘»_ Tl -

0 One knowledge mark for
advantage of job production.

@ No analysis as there is no
clear connection here between
productivity and job production.
The analysis needs to be clear
and follow on from the point being
made.

@ Second advantage is identified.
There are other examples such as
batch production, but these will gain
no further credit as all knowledge
marks have been awarded at this
point.

m The reference to flow
production is incorrect as this is not
an appropriate method for a small
business.

@ Analysis for explaining batch
production can produce many
products. This is true when
compared to job production.

There is no decision about
whether job production is the best
method. The final sentence simply
repeats a point already made.
Without a decision, there is no basis
for evaluation to be considered.
Mark for (e) = 3 out of 6

Total mark awarded =
9 out of 20

12
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How the candidate could improve their answer

(a) This was a clear and concise answer. The references to production and products are unnecessary as they do
not add any clarity to the answer. This question only required short statements identifying two reasons.

(b) It is good practice to attempt every question. If a question is left blank, there is no opportunity to gain marks.
So, while one of the answers is wrong, a guess is always better than writing nothing, especially on a calculation
question.

(c) The candidate correctly identified one effect which was then applied. However, the second response had the
wrong focus, as changes in price are unlikely to affect costs, so no marks could be awarded. It is also important to
note, the candidate did not try to link their answer to the watch-making business. Therefore, even if there had been
valid knowledge, there would have been no opportunity to gain application marks.

(d) Benefit one showed some knowledge. However, instead of analysis, the candidate repeated the knowledge
point. This was a common mistake. The candidate needed to show how having fewer employees would benefit
the business. Neither answer included any reference to FBW, so the candidate missed the opportunity for any
application marks. It is important to use the information provided in the scenario to support each point made.

(e) The candidate identified two issues, but only one was developed. The analysis should follow on from a relevant
point of knowledge. Here, for example, they could have explained why job production was likely to motivate
employees. The candidate made no decision about whether job production was the best method for a small
business to use. Therefore, there was no opportunity to access evaluation marks.

13
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Example Candidate Response — low Examiner comments

1 FBW manufactures watches using job production. It employs 5 full-time production employees.
Each worker is offered regular training. Last year FBW sold 600 watches. The Managing Director
plans to use break-even analysis to help decide whether to increase the price of its products. FBW's
current break-even chart is shown in Fig. 1.1.

Break-even chart for FBW’s watches
120000

100000

/ total revenue
total costs

80000

costs and /

revenue $ 60000

7

40000

4

20000 fixed costs

: o
0 100 200 300 400 500 600 700 800 ake ,t.he employc.ecle know what
to produce’ is not specific enough
number of watches . . .
Fig. 1.1 — as this could be a communication
issue. Had they said HOW to
(a) Identify two reasons why a business might offer training to its employees. produce, this could have gained

Reason 1: %ﬁcmmﬁmﬂm‘fkbmploym@f\]mgw ﬁfsfgé ;angsgvt\)/lwﬁ; f:)oindt ;?ur —‘so
Agw‘(\ml._i.o....q)md\m.o ......................................................................................

Reason 2: ...LX camz%oma;/msmaﬂ@wﬁ”amolumeh o This aqswer Sh‘?"‘fs no
}3»’& 61 understanding of training. It needs
}’101.—1‘@ KPVLVTQ ............................................................................... 2] to show how or Why training would
(b) Calculate the following values using Fig. 1.1: help avoid disruptions.
e Mark for (a) = 0 out of 2
Break-even output: \};600@@0 ..................................................................
Break-even revenue: b%@@@@ ............. 0 .......................................................... [2] e Break-even OUtPUt is not a

financial value, so this response
automatically gains zero marks for
including the dollar ($) sign.

o This answer is incorrect as
the answer given is an incorrect
calculation of break-even revenue.
Mark for (b) = 0 out of 2

14



Example Candidate Response — low, continued

(c) Outline two possible effects on FBW's break-even chart if the prices of its products are

increased. » e
Effect 1: FB\X/’SulQJ(aJL&/X/th“meWW/\m .........
| .ao.n‘.(u«.@...af...‘n.’s....pmdum.;.mmm....@ ......................................................

= EfrectzFEWS%oJfaJ(w&mewW#M&q
vm\fcosroFFBW'medm& S ——

, |
Explain fwo benefits to FBW of having full-time employees. *

Benefit 1: SO\/\/L%”L\LL@#U‘[FBW@ .................. e

(d)

Explanation: MmFB / qu[w”ﬁmm/o[%mfwrxfgw

sl cost. man. mongsy. 10, hice... nawe.eomployees
FBWau{msdﬂ /WW«(/,@//H oy QV\MZYTZ .........................
f pispens J

Explanation: W}’\QA\FBWL@/TQJJT{WWMPIOW‘}W .........

.{Mm.'. y,q,mp%yzu@

@W@IQ/DL/’MFMdu@FBW .f.malu,uts

Example Candidate Responses — Paper 1

Examiner comments

e Understanding that total
revenue will increase gains 1 mark
for knowledge.

e Instead of application, the
candidate repeats the question.
Using the value of break-even
revenue which can be found on the
break-even chart could have been
one way to link this point to the
scenario.

o The second answer is not
relevant as an increase in price will
not have a direct impact on costs.
Mark for (c) = 1 out of 4

e The comment about ‘save
the cost’ is a development point
only. The candidate needs to
identify what or how having full-
time employees would allow the
business to achieve this.

0 The response does not show
how the flow of production not being
disrupted relates to having full-time
employees.

@ Simply stating ‘employees are
available’ is vague as this could

be true for part-time workers.

The difference is that full-time
employees are always available
throughout the working day.

The word ‘always’ was therefore
important and is necessary to award
this point.

Mark for (d) = 0 out of 6

15
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Example Candidate Response — low, continued

(e¢) Do you think job production is the best method of production for a small business to use?
Justify your answer.

- think ol preduction. . best.methad of. producitian, for

small _busingss. becanse. i1l m .jj...sli....buﬂhm.ﬁ..pf@oduw

Froa{udims!/ty\uﬂl%séQszLiWLPmde‘c«or\o .....................

4..Id.an.’.#..fh./mk..ﬁch.Pmd.udiqn...Ls...Jzeé.t..mh.qd.‘..of...rgrod%%
'{0\" 5ma,z”L%M%jMWJf/,|mq}w{'owoFPYOJWsonxb b@
s }ouuwhluhw'l’baovaﬁM4M5a/{@oFdomdm ..........

e thinls job. pracuction is the kest method]. of prochusy
@..Lze«.cmw..‘.h‘..’J../....mm/w_..s.mcuﬁ..._bué_\‘.wm...;l)r.oduw...i.kutrs

.Pr.o.dfuats..mi.[.. amaiflwwﬁmcpmdw{slow@

wklc/f/\t&@/(mylcorsmdllomym ......................................... 6]

Examiner comments

m Cost can only be awarded as
analysis on this question because
the candidate needs to specify the
reason why costs might change.

@ Understanding that job
production is slow is awarded
knowledge. The candidate does
mention flow of production, but as
written it was clear that this was not
intended as an alternative method.

@ A decision is made but what
follows is simply a statement rather
than a judgement.

m The rest of the answer is
vague. Comments such as ‘easier’
need clarification to show what is
easier and therefore why it is an
advantage.

Mark for (e) = 1 out of 6

Total mark awarded =
2 out of 20

16
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How the candidate could improve their answer

* (a) Points made must be clear to gain any credit.
* (b) The candidate did not demonstrate an understanding of a break-even chart in the calculations provided.

* (c) The candidate outlined one effect but did not link their answer to the scenario. Any appropriate reference to the
business such as commenting on the number of products sold could have gained application. The second answer
was incorrect and therefore there was no opportunity for further credit.

* (d) The candidate must have explained the benefits of full-time employees. There was no awardable knowledge in
this response. Without knowledge, it is not possible to access marks for analysis or application. Had the candidate
mentioned that full-time employees are more loyal to the business, then the point about saving the cost of hiring
new employees would have been simple analysis. Application could have been awarded for an appropriate
reference to the number of employees or what the employees were manufacturing.

* (e) One relevant issue was identified: job production is slow, but this point was not explained. The comments about
‘easier’ and ‘lower costs’ were not detailed enough to be awarded marks. The response did include a decision, but
to access evaluation marks, the candidate needed to provide a justified reason to support their decision.

Common mistakes and guidance
(a)

« There is no need for candidates to write in sentences for this question as they are only required to identify reasons.
A couple of words identifying the change and the reason is sufficient.
* Including more than two answers is unnecessary and examiners will only mark the first two responses written.

(b)
+ Using the wrong mathematical symbol such $ when referring to output shows incorrect understanding and cannot
be credited.

» ltis good practice to include any relevant symbols or units in answers, as often these may be required to indicate
the candidate fully understands the concept.

(c)

+ A common mistake was to forget that a break-even chart assumes all goods are sold. Therefore, answers about
falling sales were not awarded.

* Some candidates discussed the effect on costs which did not answer the question.

+ Some candidates used the same references from the scenario as their application to support both points made.

* Using data from the break-even chart is a good way to access application.

» Many candidates made incorrect assumptions about full-time employees. For example, they are more skilled or
motivated which is not necessarily true as this depends on the person or job.

» This question was about employees, so mentioning the business had five employees is an easy way to access
application.

* Analysis does not need to be complex — it simply needs to make sense and follow on from the knowledge point
being made.

(e)

» Advantages of one method can be presented as disadvantages of another method, but the same point will only be
awarded once. For example, credit can be given for recognising economies of scale can be achieved using batch
production, but the same answer will not be awarded knowledge for stating there are no economies of scale using
job production as this would be repetition.

» Some candidates ignored the fact the question was about a small business so discussed methods which were not
appropriate, such as flow production. Candidates must read the question carefully.

* Most candidates struggled to develop points. Instead of analysis, many simply identify new points of knowledge.

+ Some candidates tried to link points to the scenario, but this is a general question so there are no marks for
application.

» Some responses offered no decision, and where attempted, candidates tended to repeat earlier statements in the
evaluation.
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Example Candidate Responses — Paper 1

Question 2

Example Candidate Response — high Examiner comments

2

Gloria is a sole trader. Her business provides house-cleaning services. Gloria uses telephone calls
to communicate with her 4 employees. She wants to expand the business by offering a repair
service. Gloria plans to carry out some market research. She has been told producing a business
plan can help to reduce risk. Gloria would also like to reduce her workload and is considering taking
on a business partner.

(a) Identify two ways a business plan can help a business to reduce risk.

[2]

business plon in

04 bank will

required. bl
{b) ldentify two possible reasons why a business might want to expand.

Reason 1: ... Widet ... ERYS 0] Y b@éf/efw ....... hower....... ol .

0 This response identifies one
way.

Examples of decisions are
not relevant. If this is all they had
written, this would have gained
no credit. Fortunately, the point is
clearly linked to obtaining finance,
so the comment is not classed as a
different answer.

0 Understanding the bank might
want to see it, to ‘rent the loan’ is
just enough to gain the second
mark.

Mark for (a) = 2 out of 2

o One mark for identifying a
possible reason.

o The rest of the answer can be
omitted as the question only asks
for knowledge.

0 Second reason identified. Both
marks awarded at this point.

€) The candidate identifies a third
reason. This was unnecessary as
only the first two answers will be
marked.

Mark for (b) = 2 out of 2
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

(¢) Outline one advantage and one disadvantage to Gloria of using telephone calls as a method
of communication with her employees.

Advantage: ... COhesking .. Wether Ko M4°&“P[08%
Nne e ER0E o 1 INS50G 8 08 @
MLk dediveceds........... Whichs. ... INCTBOSE........... Qhiciency
ondke.........faster ... decision zrmaking. ..... L2 N
Disadvantage: ... B R O AV e e PR, ..
e e e T i it
A ole...... Sh0der. Y. fodo.. Darder to.... ol .. A

5 0Y......... finde...... l;i\?m i aaing
fsployess........o...... awwﬁw@w\\ ....... Bay... Wt Provding. . Savice. (4]

e Recognising that Gloria
has four employees could be
application. However, without
knowledge being awarded, this
contextual reference cannot be
credited.

9 This point gains no credit
because ‘checking whether...
received’ is vague and the comment
about no mistakes is incorrect.

@ The candidate clearly outlines a
disadvantage, recognising it may be
harder to call all the employees at
the same time.

0 One application mark is
awarded for a relevant reference

to this business. There are two
possible examples here — either can
be accepted.

Mark for (c) = 2 out of 4
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

(d) Explain two factors Gloria should consider when deciding whether to take on a business
partner.

Factor 1: ?Yb RQ ............................ ettt bbb s s Raarr bt

Explanation; Tf\‘QTv\go‘anS\mbs Mne/vmemnsgs\oﬂ (AW‘\\\(W\VQ,

® Tdoe ber; ﬁﬁgmmd»wnmmc\emni“g)s«vt&éw)ﬂw
ﬁ‘ALYMan‘ k. Gﬁoﬁﬁswfw mm\Q“Mﬂ\oWYm“fm’ﬁ\méwg\f\t

) Worse. e Tt SOMIRI00G. .. e
Factor 2: ... oeSibe.. OIS ARG, M.
Explanation: 3"\‘{"\5\’\'\3?{“9\VMNNQOV‘\Q\\\N%.\)OSQ&\&CD&U%
Poe. Rt Mook e Porsknns e deaionn, wih ek owse,
Clemdind, oS 5’0\4\0\1(%@01%\5 &%MO('@\\%VJ\\V\@®
o\d{g«m%ﬁw&\s)wmw\&s\md\wx)ma\wc}wvm® i

@ The word profit on its own is
vague.

@ Understanding that she would
have to share her profits gains one
knowledge mark.

m Mentioning it is a house-
cleaning business clearly links the
answer to the context.

@ There is no awardable analysis.
The comment about ‘worse her
financial situation’ is based on an
unsupported assumption about the
level of profit.

@ This is an example of where
the analysis is written before the
knowledge. ‘Disagreements’ is
analysis only because the candidate
needs to explain the potential cause
of the disagreement or conflict.

G The reference to house-
cleaning is repetition as this has
already been credited in factor
one. They could have added that it
was her brother who had offered to
become her business partner.

@ Knowledge is seen in the
explanation section so the earlier
analysis can be credited.

@ This scenario is about a service
business so any reference to
production is incorrect.

Mark for (d) = 4 out of 6
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

(e) Explain two methods of primary market research a business could use to find out the demand
for a new product or service. Which would be the best method to use? gustify your answer.

T\‘\mwemﬁ\odsbﬂ/@ﬂmbo\mmmnwwmwmﬁmQwe%‘oww
.I:>...m‘m\z&.ﬁﬁmngw..ax.;(z?:essism\lw..M@.a\am..oonswm%l\:ﬁ@«ww

(21) Q\ﬂéx.i’%f(&..é\\Y.féf(.\z..vm%w.s.::r...Sm«[s.t.aﬂ.}..v.«xx}\.M@(yf\m...‘\s.me.\n& .....
oing, Trferalens, . Todiichens. Se ovntadyy, oo s . 06 Jo
ore. ke ...Y?Y#\Q(Mﬂ?ﬂ:..o:l&ﬂb\\).l.fé(\-%\&....(l\\[.\c&im.\m ve. vold be. €9)
fc.\.h.e.}qabx.mez\%m.3:\.becmw.m..%%\x.féﬁaﬂ\ﬁxmmipn..(:p\\&&f(sz..
’()Mo\g\(\‘éﬂ\‘:\l( \Now\d\xgb\;:i%O\W\wm\www\&\be%ﬁ\m‘x’f‘s
AORZ 70k CNRNRLc S TR ok T.0mn Yog._Seont. Yo

@OE.:..\mge..Q\mmk..%....%wg\&.z\ep&mxﬁcox\.. < Jeeiont, on the. Sher
.\.(.\aw.\éx.,.mméé(m\ﬂ\.\.}k..m.\!xdf..(};\\%.ymﬁ.Q\mq.\\‘\m&\/.uzv&ormmmv\,

T . 0 S = ConSne gy owedh e M@f@m&&%.%&\&‘fk.ﬁkm@ﬁ

@ The candidate correctly
identifies two methods of primary
market research.

@ Definitions or descriptions of
the methods are not necessary. For
analysis, the examiner is expecting
the candidate to explain advantages
or disadvantages of the methods
identified.

@ Analysis is awarded for the idea
that interviews can gather more in-
depth (deep) information. Points do
not have to match the mark scheme
word for word to be credited as long
as the answer is clear.

@ A decision is made. However,
it is not until the last line that
evaluation is awarded for a
supported reason. Here, the
candidate builds on the point that
questionnaires allow many people
to be asked, which is in direct
contrast to interviews. Hence, if they
used interviews they would miss
out on the views of ‘the majority

of potential customers’. Had they
connected the judgment to a new
product, this answer might have
gained the second evaluation mark.

@ Explaining that a questionnaire
allows a large amount of people to
be asked gains the second analysis
mark.

@ This is another example of
analysis, but all marks have already
been awarded so this explanation
receives no further credit.

Mark for (e) = 5 out of 6

Total mark awarded =
15 out of 20
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How the candidate could improve their answer

(a) Two valid ways were identified. The second way could have been written more succinctly. For example, it could
help secure finance. Listing examples of decisions was not relevant and on their own could not be awarded marks.

(b) Two reasons were identified. However, a shorter answer (stopping after ‘wider customer base’) would still have
earned the mark for reason one. The second part included two reasons, which was unnecessary. Examiners will
not mark the third reason so including it only wastes the time that could be used to answer other questions.

(c) The candidate correctly identified a disadvantage of using telephone calls as a method of communication.
Mentioning the number of employees was a good way to access application — as this clearly linked the point to this
business. However, the advantage was vague. Precision in answers is important.

(d) The candidate demonstrated good knowledge of factors. Mentioning house-cleaning was a good application.
However, there were no marks awarded for the attempted development of the first factor because it was based on
an unknown assumption about the level of profit. The second factor was developed, but the application could not
be credited as it is repetition of the one used in factor one.

(e) Knowledge was quickly gained in the first sentence for identifying methods. Both analysis marks were awarded
for explaining an advantage of each method. There were other examples of analysis, but to gain more than four
marks, the candidate must show evaluation. Here, a clear decision was made (questionnaire) which was then
supported in the final line. For the second evaluation mark, the answer needed to be linked to new products or
services, to fully answer the question set.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

2 Gloriais a sole trader. Her business provides house-cleaning services. Gloria uses telephone calls
to communicate with her 4 employees. She wants to expand the business by offering a repair
service. Gloria plans to carry out some market research. She has been told producing a business
plan can help to reduce risk. Gloria would also like to reducé her workload and is considering taking
on a business partner.

a One reason is identified.

(a) ldentlfy two ways a business plaﬁ ¢an help a business to reduce risk.
Way 1 H@\P G\OH(L kvmw W]/\oi/ th ‘/\Mg e The candidate identifies an
example of an objective which does
not answer the question.
e Mark for (a) = 1 out of 2

"ﬁ) o The candidate may be
attempting to identify market share,
but the answer is not specific
enough to gain any marks.

o One reason is identified.

‘Well known’ is a relevant
21 | reason, however as this is the third

answer, it cannot be awarded.

(c) Outline one advantage and one disadvantage to Gloria of using telephone calls as a method Mark for (b) =1 outof?2
of communication with her employees

0 This answer has the wrong
focus as ‘easy to delegate and
understand’ are reasons why

: communication is important, which
(cuolrﬂs,_ is a different question.

0 0 The reference to ‘faster’ does
not make sense here.

e e The first mark is gained for
identifying a disadvantage, namely
w\mo\/\ Aa«w VV\Q)KJC ‘AW canl e 0{13) %ﬂ OT " | increased costs.
only & ew\p\oao&s she com dwt talk’ Tose-to

a 9 Application is awarded for an
appropriate reference to sole trader.
Other relevant examples are shown,
but only one is needed for each
point.
Mark for (c) = 2 out of 4
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

{d) Explain‘two factors Gloria shouid consider when deciding whether to take on a business
partner.

the  ydeas -on’ deosion lead. to l‘mofeggeg

Factor 2: ’“/\E/O)MO\AM-K) ..... 0{ ....... t l/\ﬁ ...... \0 \)’S“A/BSS ...... PMDV\W ......

1A §0MES.

?or‘ cFeom(vn and her costs whioh

...... a\yﬁ\om’wwemowwm o do g
T

oihers 1o \V"‘PfOUg the buswecs -

(e) Explain two methods of primary market research a business could use to find out the Md
for a new product or service. Which would be the best m&e&i to use? Justify your answer.

k.. .mebhod. [, boding.. SurveYCOf.... peaple.. whiCh.
Wodd.....genesobe winole. 1§ the.  demand.. for.or ..
@..new_.pmdud....ox...sgx..v.n‘.c,e......i.n..k.\m@......comm\mi\ﬁ..-........
Seond. mebod. is. toking..shexé. .gw‘zzes...a.z...,./fn.ée.zu:?emy.
-el..people. in.public....which wowld. wasle. o lol.of Lime
__..I..........{/ﬂm/e.\’.....éh.e..,..lzfsﬁ....m.&ébaal.../5....2.@(41@..&0(!/63{. .....

....a&.....khxo..u.g.h......inkex.n.e[:..,,..o.\..wid.e ...... ronge ob ...
@...pO(S)u.lq.kvl‘.o.ﬂ....wo.u,\d......(.i.\\....o.(Lr...khe......&g‘.(.\.i.ﬁ%.s....w\.r.}x‘c_h ......
........w.czu.lc}\.....(;x.o.\/.td.e ...... o.....eve. accux.%}ﬁ.tre. .....................
o\anQ‘(@ .................................................................................................

@ This is a relevant factor to
consider when deciding whether to
take on a business partner.

m Application is awarded for
mentioning house cleaning service.

@ Explaining how knowledge can
help with new ideas on decisions to
increase sales is good analysis.

@ The comments about ‘what

the partner earns’ and ‘money’ are
vague. While money could be a
factor, either the finance they can
contribute or having to share profit,
this answer does not clearly identify
either of these points.

Mark for (d) = 3 out of 6

@ The first method is identified.

@ This line can be omitted as the
question does not ask for reasons.

@ A second method is identified.
All knowledge marks have been
awarded.

m A relevant disadvantage of
interviews gains the first analysis
mark.

@ Recognising surveys could
allow for a wide range of population
is also analysis.

A decision is made (I think the
best method is...), but the comment
about accuracy is not sufficient to
support the point. They needed to
develop this to show why having the
opportunity to ask more people in
a survey would be more important
than using interviews.

Mark for (e) = 4 out of 6

Total mark awarded =
11 out of 20
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How the candidate could improve their answer

(a) One way was identified but the second response did not answer the question set. It is important to read the
question carefully.

(b) The candidate was awarded 1 mark for a relevant reason. Use of the words ‘size of business’ was vague, and
the examiner did not know whether the answer referred to growth or market share. Points need to be clear to gain
credit.

(c) The candidate was awarded 2 marks for outlining a disadvantage of using telephone calls as a method of
communication. The advantage was incorrect and therefore gained no additional marks. Had the candidate
outlined how telephone calls could help the communication process, such as allowing for faster feedback, then this
would have been awarded knowledge mark. The reference to four employees could then have gained a second
mark for application.

(d) The candidate was awarded 3 marks for explaining one factor in context. The comment ‘earn more money’
needed to be clearer. Candidates should always try to refer to the scenario in part (d) questions to allow the
opportunity for application to accompany any knowledge mark gained.

(e) Good knowledge was evident in this answer, and both points were developed. However, there was no
evaluation. The candidate could have used the discussion of the advantages and disadvantages of each method
as the basis for a balanced decision.
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Example Candidate Responses — Paper 1

Example Candidate Response — low

Gloria is a sole trader. Her business provides house-cleaning services. Gloria uses telephone calls
to communicate with her 4 employees. She wants to expand the business by offering a repair
service. Gloria plans to carry out some market research. She has been told producing a business
plan can help to reduce risk. Gloria would also like to reduce her workload and is considering taking
on a business partner.

(a) ldentify two ways a business plan can help a business to reduce risk.

Way1:...IQ.... KT ma/l%bmm%s/mowdwmmdof ......
mmkvrn%m ..........................................................................................

Way 2 .I.Q....S.Qk.vgu..{k,t..m&%...:(or...b.u&]h%s..e ................................

........................................................................................................................................... [2]
(b) Ide_ntify two possible reasons why a business might want to expand.

Reason 1 BZ&&MS&*QIHUMS@PFO‘H#O ...............................

Reason 2: EM&M&&J"@IV\U[«ZM&!’LM«@[’\VIWG ...................

........................................................................................................................................... [2]

{¢) Outline one advantage and one disadvantage to Gloria of using telephone calls as a method
of communication with her employees. ’

Advantage: . OX\ O\A\JN\&O%Q/&Q Qbﬁ (6N U\S‘ n % &d@hmﬂ
Lel\s (s Mned s easier. Soc her ke, Comaunicote.
okum:he&.m?m%@ea.o;ﬁx&.b\‘ﬂ\em.iwmmm((;oia (6 )

AN R A Nxe(f%cmd...cx%,fxi.(ﬂ&.%&k\.%ﬂm

Disadvantage: WQ\ \SO\C&V@X\&D\QQWQ\\O@Q\U@\[&
ch@a%@m@m@é@wm@&
COMQ. e SUNASEIONAINGS. none.of her

gﬁmw\&g,eao&%\wm&\%bem&%&ﬁ&gd\c\ 4]
Ok PRPRCivy VNBLTT e oX o Whnakshe

Halo

Examiner comments

0 One mark is awarded for the
idea that a business plan can help
identify demand.

o This answer is too vague to
be credited. Had the candidate
mentioned that identifying costs
could help with budgeting or
knowing when extra finance is
needed, it could have gained the
second mark.

Mark for (a) = 1 out of 2

o One reason is identified.

o The candidate tries to identify
return to shareholders, but this is
unclear.

Mark for (b) = 1 out of 2

6 There is no attempt to link the
point to the scenario.

0 Understanding a telephone call
allows communication to take place
anywhere is relevant knowledge.

0 The candidate needs to focus
on specific features of using
telephone calls such as poor
connection which might explain why
employees did not understand.
Mark for (c) = 1 out of 4
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Example Candidate Response — low, continued

{d) Explain two factors Gloria should consider when deciding whether to take on a business
partner.

.......... kh&.....()Q.X.‘ck.\_ei(ﬂs,..‘..D.Qfmimlb.:.@
Explanation: 6[5}’({C&iﬁ/ﬁ/fl’ﬂdtehﬁl’w{'[eﬁf‘nﬂk
.....d.p.(‘.m?ons.......Gr\..........c:gylm.n.._.decescons....q(...n.o..&...m& ..........
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@...t‘.nséf.(!.olf[.\y..thﬁ..pzo.{if..and..,w.o...t./.[d..nﬁed...é.o .......................
ComprRITLe. .. wlth. ber parkner. et portner shod
he on..e xp.?ﬁ‘fiem.ed‘..x.es,poms.(.\pﬂe..P@tso.n.ko.mndgi:usim& 6]

Example Candidate Responses — Paper 1

Examiner comments

e The statement about ‘listening
to opinions’ is vague because it

is does not indicate why is this a
factor.

0 ‘Cannot make decisions alone’
is relevant knowledge. However,
there is no use of the information
from the stem to link this answer to
Gloria’s business so no application.
The candidate could have
mentioned who the potential partner
was, namely her brother.

@ A second factor is identified.

m Instead of analysis, the
candidate identifies another factor.
This is a common mistake. For
analysis, they need to show why
sharing profit might be an issue,
such as it may lead to disputes
about how any profit is shared or
what it is used for. Again, there is no
attempt at application.

Mark for (d) = 2 out of 6
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Example Candidate Response — low, continued

{e) Explain two methods of primary market research a business could use to find out the demand
for a new product or service. Which would be the best method to use? Justify your answer.

AWelned. 06 maneorier Rosearen. & Tdingss
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Examiner comments

@ One method is identified.
Candidates are not penalised for
the spelling if the meaning is clear,
which it is here.

@ Simple analysis gains a second
mark. It is possible for one method
to gain both analysis marks. For
example, they could have discussed
another advantage or disadvantage
of surveys.

m Looking at similar products

or businesses does not identify a
method which the question requires
to access knowledge marks. The
candidate also seems to have
forgotten that the question is about
new products, so it is unlikely for a
business to find out this information
anyway.

@ The candidate offers no
decision. It is good practice

to include one on all part (e)
questions, as without one, it is
not possible for evaluation to be
considered.

Mark for (e) = 2 out of 6

Total mark awarded =
7 out of 20
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How the candidate could improve their answer

* (a) The candidate showed understanding of one way. The answer given for way two lacked clarity. They needed to
show how identifying cost data would help reduce risk.

* (b) One reason is identified, however, the second reason is vague. The candidate needed to show greater
precision when identifying points.

* (c) An advantage is outlined. However, there is no use of material from the case study, such as mentioning four
employees or house cleaning, which is necessary to access application. Candidates should be encouraged to
focus on specific features of named methods.

¢ (d) The candidate identified two issues, but there was no attempt at analysis or application, which limited this
answer to 1 mark. Application could be as simple as mentioning not having to take all the decisions could reduce
her workload or that the profits would be shared with her brother.

* (e) Only one method was explained. The candidate did not identify a second method which was necessary to
access the second knowledge mark. The rest of the answer was vague and did not answer the question. It is good
practice to include a decision in all part (e) questions.

Common mistakes and guidance
(a)

* Vague statements about help, decision-making, avoiding problems or being more organised.
» |tis important to read the question carefully to ensure answers have the correct focus.

(b)
+ Some candidates were not precise enough when identifying points, or they identified two similar points. Candidates
should always attempt to select points which are clearly different.

* Only include two points, as additional answers will not be credited even if correct.
» There is no need to explain points — the question only requires candidates to identify reasons.

(c)
» Vague references to phones being ‘easy’ or ‘clear’ without indicating why this might be the case.

» Lack of application which meant candidates missed out on two potential marks. Candidates should use information
from the stem to help link points to the scenario.

* Repeating the same application which can only be credited once within the same question.

(d)
» Having the wrong focus, so discussing who should be the partner not whether to have one.

+ Some candidates missed out on application marks as they did not link points to the scenario or offer relevant
development.

* Analysis should not repeat the knowledge already credited or identify new knowledge.

(e)

+ Some candidates did not identify two methods of primary market research.

« Some identified methods of secondary market research and others confused test marketing with sampling.
+ A common mistake was to forget to include a decision, or to just repeat the earlier points from their answer.

» Itis good practice to include a decision on all part (e) questions, as without one, it is not possible for evaluation to
be considered.
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Question 3

Example Candidate Response — high Examiner comments

3 VVAisabusiness based in country X. It manufactures school backpacks (bags). VVA uses retailers
as its channel of distribution. The Managing Director knows there are many factors that can affect
demand including the stage of the business cycle and how competitive the market is. VVA imports
45% of its raw materials. The Managing Director is worried that the introduction of import tariffs
and import quotas, as well as an appreciation in country X's exchange rate, will affect VVA.

(a) Define ‘import tariff’.

(b) ldentify two reasons why some n%rkegssgan become more competitive. .
Reason 1: MOfe ....... SJUMJ{" S\OU"SWWS‘S ..... 8“)\"] ..... UASI‘OLE

Yoo merkel. @, | |

0 Understanding that a tariff is a
type of tax gains 1 mark.

o The second mark is achieved
for recognising imports are brought
‘to a country from another country.’
Mark for (a) = 2 out of 2

Having more start-up
businesses is a relevant point.

o This answer gains no credit
because the candidate has
identified a reason why demand
changes, which is a different
question.

Mark for (b) = 1 out of 2

e Four correct single word
answers are all that is needed for
this question. The first three words
gain 3 marks.

0 ‘Fail’ is incorrect as it is not a
stage in the business cycle.
Mark for (c) = 3 out of 4
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Example Candidate Response — high, continued Examiner comments

(d) Explain one possible effect of the following changes on VVA when importing raw materials:

Introduction of import quotas in country X: ....... leﬁs ........... CoN . Reiaks
e B IPOT el (@)
Explanation: ....1¢5%...........than ... 01‘!6\\“(1&%570 ...... 0F
SO0 NIRG8O e Prodisec........ 08%....... Qlstpust
LT P SN x 01 1Y T

Hoader......for.. WA_.._.30.._ Sl . .p codiscis. CO................
Explanation: ......%% ... bags ... becawse ... (17— MNOTE.
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becowe......... LS COMPRAIEN. o O T O DO
BERORABIY .o 6]

(e) Do you think retailers are the best channel of distribution for a manufacturing business to use?
Justify your answer.
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o One effect is identified.

Recognising the business
imports 45% of its materials is an
appropriate contextual reference.

@ Relevant explanation showing
the effect of the quota on the
business, so the candidate gains all
3 marks for this part of the answer.

@ The candidate confuses
importing with exporting as shown
by the references to sell and
‘expensive for other country to
buy’. Without relevant knowledge,
analysis cannot be considered.
Mark for (d) = 3 out of 6

0 The first mark is awarded for
identifying that retailers may buy in
large quantities.

@ Explaining that this can lead
to increased revenue is simple
analysis.

@ Second knowledge mark is
awarded for identifying another
channel of distribution.

@ The comment about increased
customer loyalty is too vague
because this is not a direct
consequence of the channel
identified. Had they explained

that direct selling allows for more
customer feedback, then this along
with the comment about loyalty
could have been credited.

@ A decision is made but this is
not supported.

@ The rest of the answer drifts
away from the question and
contains no awardable points. It
is important to keep the question
in mind throughout an answer to
ensure points made are relevant.
Mark for (e) = 3 out of 6

Total mark awarded =
12 out of 20
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Example Candidate Responses — Paper 1

How the candidate could improve their answer

(a) The candidate gave a full definition which was awarded full marks. The same mark could be achieved in slightly
fewer words, but the extra words used did not detract from this answer.

(b) The second response was wrong. Candidates should be encouraged to identify key words in the question to
ensure responses answer the question correctly.

(c) Single word answers are all that is required to gain full marks on this question. 3 marks were awarded for
identifying three stages. While the final answer was wrong, this remained a good response overall.

(d) The candidate demonstrated good contextual understanding of the effect of a quota which gained 3 marks.
However, the answer about exchange rate appreciation was incorrect because it considered the effect on exports
and not imports.

(e) One advantage of using retailers was explained. The second knowledge mark was awarded for identifying

an alternative channel of distribution, but this point was not developed. Identifying alternative methods is a good
approach because comparing two methods can provide a good basis for any evaluation. The candidate made a
judgement, but it was not clear why selling direct would be a better channel of distribution than using retailers.
The final few sentences were not relevant to the question and could have been omitted without affecting the mark
gained.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

3 VVAis abusiness based in country X. It manufactures school backpacks (bags). VVA uses retailers
as its channel of distribution. The Managing Director knows there are many factors that can affect
demand including the stage of the business cycle and how competitive the market is. VVA imports
45% of its raw materials. The Managing Director is worried that the introduction of import tariffs
and import quotas, as well as an appreciation in country X’s exchange rate, will affect VVA.

(a) Define ‘import tariff’.

Reason 2. .(ide..range of. prodvels/services for. costomers.b0.. @)
.9&@9@&.{[{2&3.:.[%%9.@@ﬂea{e. in.this. mass. markel.eesier Lookvediz)

o mMass oraoonk of

coCkGgreetrs - o

(c) State the four stages of the business cycle.
v cluen

0 One mark is awarded for
understanding that a tariff is a type
of tax.

e Using the word ‘import’ is
repetition of the question and shows
no further understanding. This is a
common mistake.

Mark for (a) = 1 out of 2

o ‘More competitors in the

market’ identifies one reason. The
rest of the answer can be omitted
as it adds no rewardable content.

o This answer is incorrect
because it identifies a factor
affecting demand which is a
different question.

6 Another incorrect answer,
which even if correct, would not
gain credit as it is the third answer.
Mark for (b) = 1 out of 2

0 The candidate confuses the
business cycle with the product
life cycle. However, under positive
marking, the candidate can gain

1 mark for mentioning growth, as
this is also a stage in the business
cycle.

Mark for (c) = 1 out of 4
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

(d) Explain one possible effect of the following changes on VVA when importing raw materials:

0 Recognising that the number of
Intfoduction. of |mport quotas in country X: va"\b&r ....... O'FYN/J ..... l/"\ojaeflmls imports will decrease gains 1 mark.

ovD Mol weed JDo be oLecfmgeﬂ

e This sentence repeats the
Explanation: H ..... ttAb ............ P Or.\’ ...... (1\)401;05 ..... ) hmlb ..... tl/\e .................. ) know|edge mark so can be omitted.

..................................................................... x 'M-bo GIOW e Clear explanation of the effe.ct of
.............................................................. Q... ..‘J}ﬁ.‘. be|ng able to Import fewer materlalS
P‘“Oé»WJ()\O‘A ......... S D ¢ dnd lower owhpul | [9.?.‘./1 .‘...ﬂ?.rmoe- on production. However, there is no
Appreciation of country X's exchange rate: —W\eeyo\/“w\gi ..... Y 0«*}8 ............. use of material from the stem, such

mMow . eosy \/\\ er U/\OW\ \J\}f\ o%

as mentioning they import 45% of
its materials, which is necessary to
access application.

@ This answer is incorrect as the
candidate has confused appreciation
with exchange rate depreciation.

@ Mentioning backpacks does link
the answer to the scenario, however
as there is no relevant knowledge,
the application cannot be awarded.
Mark for (d) = 2 out of 6
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

(e) Do you think retailers are the best channel of distribution for a manufacturing business to use?
Justify your answer.

es) . Rebeilexs are. the besh. chewmnel.of. ..
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@ Knowledge is awarded for the
idea of wide distribution.

@ The comment about ‘easier’ to
sell is vague, the candidate needed
to explain why or how this might be
the case.

@ The statement about no
investment on promotion or market
research was too vague to be
credited. Had they added that the
retailers will carry out or pay for
promotion, the second knowledge
mark could have been awarded.

@ Understanding that more
retailers could increase sales shows
simple analysis. Note, the analysis
can appear before the knowledge
where the points are clearly
connected.

@ The statement about no
investment on promotion or market
research was too vague to be
credited. Had they added that the
retailers will carry out or pay for
promotion, the second knowledge
mark could have been awarded.

0 The candidate recognises there
are other channels of distribution
but does not identify any. Had they
done so, this could have gained a
knowledge mark.

@ Comments about brand image
can only be analysis because on
its own, it does not answer the
question. As there is no relevant
knowledge, this point cannot be
credited.

Mark for (e) = 2 out of 6

Total mark awarded =
7 out of 20
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Example Candidate Responses — Paper 1

How the candidate could improve their answer

(a) One mark was awarded for a partial definition. However, the answer lacked the necessary precision to gain the
second mark. The candidate simply reused words from the question which did not define the term.

(b) One mark was awarded for the first reason, although the answer could have stopped after ‘competitors’.
The question only required candidates to identify points, and answers did not need to be written as part of a full
sentence.

(c) This candidate confused the product life cycle and the business cycle. This is a common mistake. However, the
reference to growth could be awarded as this is a stage of the business cycle.

(d) The candidate was awarded 2 marks for explaining that the number of imports may decrease which could lead
to ‘lower output’ being produced. However, the answer was generic which means it could apply to any business.
Had they mentioned what was being produced, namely school backpacks, this would have clearly linked the point
to the scenario and gained application marks. The statement about ‘cost higher’ was wrong as this did not identify
any effect of exchange rate appreciation on imports.

(e) The candidate hinted at three different points but only one was identified and explained. Comments such as
‘easier’ need further clarification to be credited to show how or why this may be the case.
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Example Candidate Responses — Paper 1

Example Candidate Response — low Examiner comments

3 VVAisabusiness based in country X. It manufactures school backpacks (bags). VVA uses retailers
as its channel of distribution. The Managing Director knows there are many factors that can affect
demand including the stage of the business cycle and how competitive the market is. VVA imports
45% of its raw materials. The Managing Director is worried that the introduction of import tariffs
and import quotas, as well as an appreciation in country X's exchange rate, will affect VVA. .

This answer shows no

(a)’ Define ‘import tariff. 0 understanding of a tariff. The use
ﬂ&/’lmnb{jsor\fjflmmeJVr\Po,&&b\/%O\Whmm of the V_V°rd limitation” confuses the
term with a quota.
........................................................................................................................................... Mark for (a) = 0 out of 2
........................................................................................................................................... |

o One mark is awarded for a

(b) Identify two reasons why some markets can become more competitive. relevant reason.

Reason 1: L %TM&M&MOE@A&SIWJ)%C@MW o o This answer shows no
................................................................................................... o understanding as demand is not a

) reason why some markets become
Reason 2: B@G@MM%M‘]‘A}Q{QII\M!JO{PTOCIWM,@ more competitive.
dlﬁfawo ....................................................................................................... 2]

o This word is vague. Candidates

(c) State the four stages of the business cycle. should always include reference
P ) to why or how it is different, and
1: nma//\/ ......................................................................... not simply state that something is
different.

Mark for (b) = 1 out of 2

6 No awardable content. The
candidate identifies economic
sectors instead of stages of the
business cycle.

Mark for (c) = 0 out of 4

(d) Explain one possible effect of the following changes on VVA when importing raw materials:

. , One relevant effect is identified.
Introduction of import quotas in country X: \/\/]A(PYOdMﬂ"\OY\Wll/Y_ZG(LLLQ/ e Y ectis identiiie

There is no attempt to link

..,_,_,.........-u-.. ------------------------------------ ;‘F.""“'-'.‘.#IHX .......... : .............. % ....; ...................... this pOint to the ConteXt- Had the
Explanation:; WM%@WHYI\WWVVJPM)MFW‘f Hﬁ\/\\//ﬂ( candidate mentioned what was

' m‘”....z‘m.,o..o.tt;.L%s..mm.m.amf.ml...W}.mrulq...mam;....a%m ......... beingI grﬁduced, nadm1ely bicllfpacks,
" :
thore!re Less material for WA to.produce... .. application. oo

: This part of the answer is
Appreciation of country X’s exchange rate: \/VASQL%\&“”CLWM%Q gfused_ The question is about

quotas, so candidates should avoid
any reference to tariff, as this is a

}
Jr}wOWomof%W/Ir,modfwjmﬂdw&m&wh%wn _ o
@ This statement is incorrect as

I
MQ/I(JZ/WASJQAQ{OLW*&M ........................................................... the question is about importing

materials and not selling.
Mark for (d) = 1 out of 6
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued

(e) Do you think retailers are the best ¢hannel of dlstnbutlon fora manufactunng business to use?
Justify your answer.

..............................................................................................

....................................... V\w
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Examiner comments

@ The answer starts with a
decision but at this stage there is no
knowledge or analysis to support it.

m Knowledge mark is awarded for
identifying retailers will buy in higher
amounts.

@ Instead of analysis, the
candidate repeats the knowledge
point.

@ The comment about ‘well-
known’ is too vague to credit. This
question is about the advantages
or disadvantages to manufacturers.
Even if the candidate was
attempting to explain that the
retailer is well-known, it could not
gain credit until they showed how
would this help the manufacturer.

@ This statement adds nothing

to the answer because it is unclear
what the candidate means by ‘make
prices cheaper than usual’.

Mark for (e) = 1 out of 6

Total mark awarded =
3 out of 20
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Example Candidate Responses — Paper 1

How the candidate could improve their answer

* (a) The candidate showed no understanding of a tariff. It is important to learn key terms and definitions.

¢ (b) The candidate identified one relevant reason. The second answer lacked clarity. The reference to demand
showed no understanding of the topic being assessed in the question. Care is also needed when using words such
as ‘different’ — on its own, it is vague. Candidates should include the reason why or how something is different.

¢ (c) This answer demonstrated no understanding of the business cycle.

¢ (d) The candidate correctly explained one effect of quotas being introduced — namely lower production. The
answer could be improved if application was included as part of the answer, e.g. fewer backpacks being produced.
The reference to tariffs was misleading as the understanding referred to quotas. It might be that the candidate
mentioned tariffs to access application, but this was not clear. It is safer to avoid using these two concepts in the
same answer unless the question specifically asks to do so. The second part of the answer was incorrect as it
discussed the effect of selling products, but the focus of the question was on importing raw materials. It is important
to answer the question set.

* (e) The candidate started their answer with a decision. However, because they had not offered any justification for
this decision, it cannot be awarded any marks. The candidate was awarded 1 mark for identifying an advantage of
using retailers as a channel of distribution. However, the development was not awarded because it simply repeated
the knowledge. Candidates should be encouraged to clarify points to ensure the meaning is clear.

Common mistakes and guidance
(a)

* A common mistake was to confuse the term with a quota.
+ Some identified reasons why tariffs are introduced, which is a different question.

+ Some responses lacked precision referring to costs or prices instead of tax. Using the appropriate technical terms
should be encouraged.

* Many identified factors affecting demand instead of reasons why some markets are more competitive.
» Some repeated similar points for both reasons which will only be awarded once.

» Candidates should be encouraged to identify key words in the question to ensure responses answer the correct
question.

* A common mistake was to confuse the business cycle with the product life cycle.

+ Some candidates described each stage, which was unnecessary. A single word answer is all that is needed for
each response to access the mark.

» Many candidates confused the effects of appreciation with depreciation in the exchange rate.

+ Some candidates did not link their answers to the context, so could not access the application marks. Simple ways
to do this include appropriate references to the product being made or using relevant numbers to support points.

+ Some candidates did not develop the points they made to show how this might affect the business.

» Instead of development, some candidates identified new points, or repeated the original knowledge already
credited.

+ Some identified advantages or disadvantages to retailers, wholesalers or customers instead of manufacturers. It is
important to read the question carefully to ensure the answer has the correct focus.

+ Some made vague statements about speed, cost and prices which needed further clarification to award.
» Part (e) questions are general questions, so linking points to the context is unnecessary.

» Most candidates struggled to develop points. Candidates should be encouraged to use connectives such as ‘this
means’ or ‘therefore’ to help encourage analysis.

* Many candidates did not offer a decision. Without a decision, the candidate cannot access the evaluation marks.
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Example Candidate Responses — Paper 1

Question 4

Example Candidate Response — high Examiner comments

4

CPF is a clothing retailer. It is a private limited company. It has 4 shops and 30 employees. The
Finance Director is concerned about the amount of current assets because working capital is
important. The amount of retained profit is also low. CPF's directors are planning to expand the
business by opening a new shop. A suitable source of long-term finance will need to be identified.
The plan to expand will affect many of CPF's stakeholder groups.

(a) Define ‘retained profit'.

of ofib
T LR AR REEEE DAL

take, . Hat A M.

21
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........................................................................................................................................... [2]

(¢) Outline two possible reasons why working capital is important for CPF.
Reason 1: ... 1 Q.ooo...... faﬁlﬂs wo-da:}wsﬁo ..........
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0 Recognising that retained profit
is what is left after shareholders
take their dividend shows some
understanding. Had the candidate
added that this profit would then be
reinvested back into the business it
would have gained full marks.

Mark for (a) = 1 out of 2

o One mark is awarded for
understanding an asset is owned by
the business.

o Mentioning the correct time
element gains the second mark.
Mark for (b) = 2 out of 2

o The candidate identifies a
relevant reason.

o Understanding that this
business is selling clothing is
sufficient to gain application mark.

0 A second reason is identified.

Recognising the business has
four shops clearly links this point to
the context.

e These extra words can be
omitted as they add nothing to the
answer.

Mark for (c) = 4 out of 4
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

(d): Explain one way each of the following-stakeholder groups might be affected.by CPF’s plans .
to-expand its business. 0 One effect on employees is

identified.

@ The reference to 30 is good

' A . application. For questions about
Explanation: OM“&V\“@SN&‘O‘)SVQQQSJYSP%SW\BV‘(O(\"O’b\OY\ employees, using numbers is a

@%x..CFE.‘.é..%Tsﬂvig.?:g.my\pg&&.ms.;fé?sm.wﬁ\\b&.nm..mmgws good way to link answers to the
- L text.
nedeth, T S .J.xz\}ﬁ\c\fx.my»Xc).\.Xemd\.to..o\n..\vnmge,.m.fv&\.@.\r.m comex
@Tﬂwwmhd\?oww%w? @ The comment about new
Suppliers: YY\QYQSO\\QS% ANNERItedeGT

l t\(\e managers is unnecessary as the
ol -‘1-@ ------------------------ question does not ask candidates to
explain why promotions arise.

Explanation: CPY’ISGXPU\N}\TY\B‘?\V\Y\SV\%%JCSW\M\\Yleed\YmYez @ Explaining a promotion could

: lothes, To. eek-the. iensed demnnd %vvm ® result in an increase in income for
Ao oeb, To BCLING. IUEASER, o, Jyem, employees is good andlysie,
ﬁ/\zn@ws\/@s L ,%G?fmmge&x’(o?mgﬁ:ss“wue{son

o by Sk, T Wi, o s ens re. e @) | B The candidate shows

,\;N\ —QA&‘SV‘W\@‘&‘ o | o knowledge of an effect on suppliers.

@ Linking the point to what is
being sold is relevant application.

@ This sentence repeats the
knowledge point but from the
viewpoint of the retailer, which is
unnecessary.

@ There is an attempt at analysis,
but this is not awarded. The
comment is vague as higher sales
do not necessarily result in higher
profit because this is dependent

on what happens to the associated
costs.

Mark for (d) = 5 out of 6
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

(e) Doyouthinkitis better for a private limited company to use debt (e.g. aloan) or equity (issuing .
more shares) as a source of long-term finance? Justify your answer. 0 Understanding debt can be
Loans obtained quickly gains 1 mark.

Bebis. alow..for.4. (arge. sum.of. money. 0. b2 ebivined guicky. ()

@ It is unclear what the candidate
means by this statement. They
needed to explain what or how

blang. feputution.. 1. be. maintuined. However, etz \oans deed being able to use funds quicker

, o w would help the business. For
Tobqu\dba@\iw"rhlnm%f,ﬁof“cms‘ﬂﬁsﬁwc;i(sﬂ“{gedfo example, having access to funds

g.17s. pices i, ofder 1o, (over idse. costs., ESsutiag-Moie | more quickly could allow them to
4 ‘ expand more quickly.
.SY)QL[@...Q.\LQ.WS"...’rh.c...b!«.(é.iﬂﬁss;..’cq...gaiﬂ‘,q..pﬁ(m@némf..s.oume...aﬁ..m P quickly.

LApidul. wich. cam. el d. busifess. expand. fusted. dnd galn.d.... @ A disadvantage of debt is
identified. Both knowledge marks
have been awarded at this point.

and. thax. Would.. (ead. 10, [ess.. Se1ainec). profit &y, the business fo. @
in ofdef O ) o . . f
Use H (eI T. 5 Tn.condlison, T ik, that. Issuing. more shaies gig‘;‘: 'tf;f I’:gke o s;"’j;dg; .

@ 5.0 better. souee of long ferm FinQice. s it.allows. for busloesses . (g] to higher costs. It is important
to gain Mofe Lhdrenoiders and Malntain 4 geod band iMage- that candidates are clear in their
@ explanations.

@ Stating shares as a permanent
source of finance is knowledge but
will gain no credit as two knowledge
marks have already been awarded.
However, any relevant development
can be credited. In this instance, the
comment ‘faster’ does not follow on
from the point made so it cannot be
awarded analysis.

@ A disadvantage of equity is
explained so the second analysis
mark is awarded.

@ The candidate makes an
unsupported decision, as the
reason given does not explain
why equity is better than debt.

For evaluation, they needed to
compare the relative merits of debt
and equity as the basis for their
decision.

@ The reference to shareholders
is misleading, because one
disadvantage of a private limited
company is limited shareholders,
which could potentially restrict the
amount of finance that could be
raised.

Mark for (e) = 4 out of 6

Total mark awarded =
16 out of 20
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How the candidate could improve their answer

(a) The candidate could have improved their answer by adding that the profit is reinvested back into the business.

(c) This answer showed that two well-written sentences are sufficient to access all 4 marks. The candidate did not
need to add the extra words about keeping the business running.

(d) The candidate clearly understood how each of the named stakeholders might be affected by the planned
expansion and made effective use of the source material to show good application. The comment about why
managers are needed was unnecessary and gained the candidate no additional marks. The candidate was

not able to explain the effect on suppliers of receiving more sales. To improve, they needed to explain the
consequence of this for the business, for example, more revenue.

(e) The candidate effectively explained two points. They then decided equity was better than debt but there was
no supporting reason to back up this statement. Any evaluation must follow on logically from the points discussed,
and not hint at new points of knowledge. For example, they could have explained that the likely disadvantage of
having to pay interest is greater than the risk of less retained profit from paying dividends, as debts must be repaid
whereas dividends are optional.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

4 CPF is a clothing retailer. It is a private limi ompany. It has 4 shops and 30 employees. The

Finance Diractor is concerned about the amount of clifrent assefs because warking capital is
important. The amount of retained-prefit is.also low. CPF’s directors are planning to expand the
business by opening a new shop. A suitable source of long-term finance will need to be identified.

The plan to expand will affect many of CPF's older groups.

(a) Define ‘retained profit’.

0 Diofit. leftover. by the. business: affer. taxes. and dividends have. ..

........................................................................................................................................... [2]
(b) Define @assets’. o
Shott. fesm.. dssers. the. business Owns T e
............... 0
........................................................................................................................................... 2]
{c) Outline two possible reasons why working capital is important for CPF.
)5.-pay. for. dy ..:.tQ:.slgg...exgcn.s.cs..e ...........................
OFismsmptinere W05 H._SN0PS. 0. £08Uiing Hidt. they . have endugh,
Caphtal 1Q... cover. fixed.. casts. wlll. ensue. the. busioess can_Ontinue.
... 0perare. officently. and. ploduce. £0Qugh. AUERU 0. et dendnds.
Reason 2: . Allows.. wesksee. Mgner. wages. ..o
-LPE.Nds. B0, emplagess,...80.. having..£ndugh. wotking. cdpitul-is. will...
aNOw. woskers. to. fereve. higher. woges. high. would motivate. shem.
org. and. edd 10, 1esS Iabor SUMOVEL. e 141

0 This comment is too vague and
does not identify what this left over
profit represents or what happens
to it.

o The candidate gains 1 mark for
understanding it is profit left over
after dividends have been paid. For
the second mark, they needed to
provide a precise definition of the
term.

Mark for (a) = 1 out of 2

o The candidate provides a
partial definition and is awarded
1 mark for understanding that

a current asset is owned by the
business.

o The reference to short term is
not specific enough as it does not
indicate the timespan. They needed
to add that short term was less than
one year.

Mark for (b) = 1 out of 2

0 One reason is identified.

@ Linking the knowledge to the
business having four shops is
relevant application.

o The rest of this answer can be
omitted as the question does not
require detailed explanations.

0 This answer is incorrect and
shows no understanding of working
capital. While working capital

could be used to pay wages, it
does not directly influence whether
employees receive higher wages.
Mark for (c) = 2 out of 4
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

(d) Explain one way each of the following _&t_thQJdeLgmups might be affected by CPF’s plans
to_expand-its-business .
Mofe qOb op?ommrhcs

Employees: .75

Explanation: ..3{0¢€.. COE. Dlans. 10 expand, thed will.need. fo. eftner....

0..rﬁ.ta.c.qfr.@...qc...hj.f@...ncu...emplogf:cs JF e expansian doeshees c,! O
more uob oppor nittes io, cou.nffgx wh(ch «f
el I could. lead. to=thsse—amblddeescerety - R

Explanation: ..CPF. ¢llead Y.omns R .$hops,. $0. bg Sfurthex ..CX.P.CAR(JJ'.Qﬂ 0
will.\ead. to. higres. demand. £Lom. supplics. wee . whith wodtd.....
..mlo.w....tn.am...t.o....g.ene(ate..macg..&q.l.es..qn_d....m.q!'nmm..gag.c!..b.rqn.d..

0 This statement is confused.
Does the candidate mean more
jobs are available or it would create
opportunities for employees to be
promoted? The first interpretation
does not answer the question, and
while the second part would be
correct, the examiner should not
be expected to guess the intended
meaning.

@ Mentioning that CPF plans to
expand is true, but this cannot be
awarded application mark, as the
candidate simply repeats words
from the question. To access the
mark, the candidate needs to use
a different reference to link the
point to the scenario. For example,
mention the number of employees,
namely 30.

0 Understanding that some
employees might have to relocate
gains one knowledge mark.

@ The candidate returns to the
idea of more jobs and attempts to
develop this to show the impact

on the local economy and not

the employees. So even if the
knowledge had been credited, this
explanation would not gain analysis.

@ A relevant effect on suppliers is
identified.

m Recognising the business
would be supplying four shops is
relevant application.

@ Instead of analysis, the
candidate repeats the knowledge
point using different words. They
need to explain a benefit to the
business of having more sales,
such as increased market share or
higher revenue.

Mark for (d) = 3 out of 6
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Example Candidate Response — middle, continued Examiner comments

(e) Do youthinkitis better for a private limited company to use debt (e.g. a loan) or equity (issuing
more shares) as a source of long-term finance? Justify your answer.
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@ The comment about the
amount of money is vague as it is
not possible to know which source
would raise the larger amount.

@ Understanding debt requires
repayment and involves interest
gains the candidate both knowledge
marks in the same sentence.

@ The next few lines include
further examples of knowledge

but, as both marks have already
been gained, these statements
about security and small number

of shareholders will gain no further
credit. To access additional marks,
the candidate must develop one or
two points identified in their answer.

@ Candidates cannot gain two
knowledge marks for stating an
advantage of equity is no need to
repay, and then a disadvantage of
debt is it must be repaid as this is
repetition. Candidates must identify
two distinct points to access the
marks.

@ A decision is made but this
cannot be credited unless the
answer is supported with relevant
knowledge and analysis. While
this answer includes plenty of
knowledge, none of it has been
developed so there is nothing to
support the statement made.

@ This is repetition of an earlier
point.
Mark for (e) = 2 out of 6

Total mark awarded =
9 out of 20
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How the candidate could improve their answer

(a) The candidate provided a partial definition. They could have developed this by stating that the leftover profit
would be reinvested back into the business.

(b) This answer showed some understanding of the term ‘current assets’. The candidate could have improved their
answer by adding that the items are held for less than 12 months.

(c) The command word only asks candidates to outline points, so they do not need to include detailed
explanations. The second answer did not outline why working capital is important. While it can be used to pay
wages, this would be an example of reason one, so would be classed as repetition. To access the second mark,
the candidate needed to outline one of the other reasons listed in the mark scheme.

(d) The candidate correctly identified two effects, but only one was in context. Neither point was successfully
developed. To improve their answer, the candidate needed to explain the effect on employees and suppliers of
relocation and high demand respectively. For example, relocation could demotivate employees as they must spend
more time travelling to the new location. Had they also included the number of employees, then the answer could
have gained all 3 marks for the first part of the question.

(e) The candidate provided two relevant disadvantages of using debt in the first sentence. However, neither point
was developed to explain the possible consequence of the need to repay or interest for a business. For example,
paying interest would increase cash outflows. The candidate stated their decision, but there was no analysis or
justification offered to support their point of view.
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Example Candidate Response — low

4

CPF is a clothing retailer. It is a private limited company. It has 4 shops and 30 employees. The
Finance Director is concerned about the amount of current assets because working capital is
important. The amount of retained profit is also low. CPF’s directors are planning to expand the
business by opening a new shop. A suitable source of long-term finance will need to be identified.
The plan to expand will affect many of CPF’s stakeholder groups.

(a) Define ‘retained profit’.

Nussbor of ocofit. Ahat are. avilable. afiormnus..

(b) Define ‘current assets’.
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(c) Ouitline two possible reasons why working capital is important for CPF.

Examiner comments

0 The candidate tries to define
profit, not retained profit.
Mark for (a) = 0 out of 2

This answer shows no
understanding of current assets.

e Mentioning property is
inaccurate as this is a non-current
asset.

Mark for (b) = 0 out of 2

o The first reason is outlined

but there is no application. Had

the candidate then mentioned the
expenses might involve paying rent
for the four shops or paying the 30
employees, this could have gained
an additional mark.

6 The second reason is incorrect
as working capital is necessary for
short-term purposes and not to fund
expansion.

Mark for (c) = 1 out of 4
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Example Candidate Response — low, continued

(d) Explain one way gach of the following stakgholder groups might be affected by CPF’s plans
to expa?ﬁ?s’bﬁéiiess.

Employees: ... A8 | hag 4 dmnd do  perei |

(e) Do you thinkit is better for a private limited company to use debt (e.g. a loan) or equity (issuing
more shares) as a source of long-term finance? Justify your answer.

Example Candidate Responses — Paper 1

Examiner comments

@) one effect is identified.

o The reference to the expansion is
not application because this is simply
repeating content from the question.

e Had the candidate mentioned
the number of existing employees,
this could have counted as relevant
application.

e Instead of analysis, the candidate
repeats the knowledge point. To gain
analysis, the candidate needs to
explain how its existing employees
might benefit from the promotion.

@ Although the comment ‘increases
the quantity being supplied’ could
have gained some credit, the
reference to raw materials means this
answer is incorrect. This is because
the candidate assumes CPF is a
manufacturer instead of a retailer.
Mark for (d) = 1 out of 6

m The comment about ‘close
people’ is too vague to credit.
However, mentioning who these
people were, namely friends and
family does gain the first knowledge
mark.

A second mark for understanding
that a bank loan must be repaid is
awarded.

@ Another disadvantage is identified
but as all knowledge marks have been
awarded, this will not be credited.

To access additional marks, the
candidate must develop at least one
of the points made.

@ This question is about private
limited companies so comparisons to
other forms of business organisation
can be ignored.

@ Repetition of an earlier knowledge
point.
Mark for (e) = 2 out of 6

Total mark awarded =
4 out of 20
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How the candidate could improve their answer

* (a) The candidate did not demonstrate an understanding of retained profit. The comment about ‘minus the cost of
production’ may suggest a partial understanding of profit, but this is a different concept.

¢ (b) The question asks for a definition, so candidates should focus on providing an exact meaning of current assets.
There is no need to include examples as these do not define the term.

¢ (c) One reason was outlined, but there was no application. Using relevant examples from the scenario, for example,
mentioning the expenses might be connected to the four shops would allow the opportunity for a further mark.

¢ (d) The candidate showed good knowledge of the effect on employees but there was no awardable analysis or
application. Application should not be difficult to access, a simple reference to the number of existing employees
would be sufficient to link the point to the scenario. Analysis should develop a consequence of the knowledge point
made.

* (e) The candidate correctly identified two relevant points, however there was no analysis and therefore no
opportunity to access evaluation. To improve their answer, the candidate needed to develop an explanation of one
of the points they included. For example, they could have added that paying interest would increase expenses.

Common mistakes and guidance
(a)

+ A common mistake was to define profit or identify uses of profit, rather than providing a full definition of retained
profit.
+ Some reordered the words of the question which showed no understanding of the term.

* A common mistake was to refer to ‘short period of time’ without specifying what this meant.
+ Some repeated the word ‘asset’ or gave examples which do not define the term.

» Some confused assets with liabilities by saying the assets were owed. Candidates should be encouraged to learn
key terms.

* Most candidates found it difficult to outline two different reasons.
+ Some confused working capital with profit.

* Many candidates did not attempt to link their answer to the scenario so missed out on the opportunity to gain
application. Any appropriate reference can be used if it makes sense in relation to the point being made.

* Many candidates ignored the fact that CPF was a retailer so incorrectly assumed suppliers would provide raw
materials to CPF. Candidates should take the context into account when identifying points.

+ Some candidates struggled to explain the effect on suppliers. They must develop the knowledge point made to
show a consequence for the stakeholder.

» Explaining the effect on the business, rather than the stakeholder.

» Some candidates expressed the advantage of one source of finance as the disadvantage of the other. Whilst both
are technically correct, it is the same point and therefore will only be awarded once.

» Some candidates offered comparisons between a private limited company and a public limited company.
* Analysis must follow on from the knowledge point made.

* Instead of analysis, candidates tended to identify additional points of knowledge.

» Some decisions were unsupported, or simply repeated earlier points made in their answer.
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